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QLIiZ 4 — problem]

F(y)=P(Y <y)=PlaX +b< y)
if a>0




QLIiZ 4 — problem?2

« Let X be arandom variable such that
M, (s)=ae’ +be* +ce™, E[X]=4 and var(X)=6
Finda , b, ¢ ,and the PMF of X .
= v E[X|=2a+4b+8c=4
vazr(X)z4az+]6b+640—(E[X])2 =6

a+b+c=1
2a+4b+8c=4
4da+16b+64c—16=6
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Quiz 4 - problem3-(i)

(i) fX(x):/le_lx , x>0
N e e

Jif s-A <0
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Quiz 4 - problem3-(ii)&(iii)

(ii)
if Y=aX+b
MY (S) — E[es(aX+b)]: est[esaX]: estX (Sa)
A

MY(S): e3SMX(25): e’ FIEY
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QLIiZ 4 - problem4-(i)
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Jf —4<w< -1

Jf —1<w<0

JfO<w<3



QLIiZ 4 — problem4-(ii)

fX(x)/ fy(y)/\
1
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Quiz 4 - problem5
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